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1. Which of the following countries are members of the Euro area?

a. Cyprus
b. Estonia
¢. Slovakia
d. Slovenia

2. Which of the following companies were bailed out by the US government
during the recent financial crisis?

a. Bear Stearns

b. Lehman Brothers
c. Freddie Mac

d. Goldman Sachs

3. According to the Solow growth model, when the growth rate of technology
increases, which of the following will happen?

a, Steady state output per efficient worker will increase

b. Steady state growth rate of capital per worker will increase
c. Steady state growth rate of efficient worker will increase
d. Saving rate will decrease

4, If your consumption behavior is a random walk process, which of the
following statements will be true?

a. If your original consumption is $1000 per month, when you win a lottery of
$5000 in period t, your period t consumption will be $6000

b. Your consumption in period t will not change

¢. Your consumption will be constant from period t on

d. Your consumption in period t+4 is expected to be the same as your

consumption in period t+3

5. Which of the following would happen if Taiwanese citizens buy more US
dollar assets?
a. Taiwan foreign exchange reserve will increase
b. Taiwanese dollar will appreciate
c. Interest rates of US dollar assets will become higher

d. Taiwan’s net foreign asset will increase
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. Which of the following might be reasons why Ricardian Equivalence might

not hold?

a. Consumers discount the future

b. Some consumers face borrowing constraints

¢. Some consurners do not intend to leave bequests

d. Interest rate increases when government spending increases

Suppose the recent financial crisis makes consumers to worry about the
soundness of banks. Which of the following statements will be true?

a. Without government intervention, interest rate will tend to rise

b. Without government intervention, output will tend to decrease

c. Monetary targeting will be better at stabilizing output in this case
d. Interest rate targeting will be better at stabilizing output in this case

. 'What might happen if China liberalizes its financial account?

a. The Chinese Yuan might appreciate

b. The Chinese Yuan might depreciate

¢. The Chinese trade balance might improve
d. The Chinese trade balance might worsen

Suppose the Taiwanese dollar — US dollar exchange rate was 33 NT/$ on
January 2010 while it is 30 N'T/$ on January 2011. Suppose the inflation
during this period is 2% in Taiwan, while it is 3% in the US. According to
‘relative PPP, which of the following is true?

a. Taiwanese dollar is undervalued
b. Taiwanese dollar is overvalued
¢. US dollar is undervalued

d. US dollar is overvalued

- iO. Suppose there is 2 small open economy with the following functions:

Money demand: (M/P)=Y-50r

Investment: /=400 -10r

Consumption: C=400+ 0.8 (Y-T7)-10r

Net export: NX = 80 — 2 £, where E is real exchange rate

Suppose further that government spending G = 100, taxes "= 100, money
supply M = 2200, price level P =2 and world interest rate r =10%.

Suppose the world interest rate increases from 10% to 20%, which of the

following will be true?
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a. Output will increase by 100
b. Output will increase by 500
c. Real exchange rate will decrease by 150
d. Real exchange rate will decrease by 200
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1. Inrecent months, a lot of foreign capital flows into Taiwan, which causes an
appreciation of the Taiwanese currency. Using the graph of an IS-LM-BP
model, explain what might happen to output and interest rate under the
following circumstances:

Note: Please label your graphs carefully and explain in words what happen in
the graph (like which graph shifts first and why). No points will be given
without explanation in words.

(2) [5 %3] The central bank of Taiwan does not intervene in the foreign

exchange market

(b) [5 %3] The central bank of Taiwan intervene in the foreign exchange
market to offset some of the appreciation of the Taiwanese currency

2. [10 43] Discuss the weaknesses of New Keynesian models and the weakness
of Real Business Cycle models. For each type of models, discuss at least two
of its major weaknesses and why those weaknesses are important.
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